MA123, Chapter 7: Word Problems (pp. 125-153, Gootman)

Chapter Goals: In this Chapter we learn a general strategy on how to approach the two main types of
word problems that one usually encounters in a first Calculus course:

e Max-Min problems
e Related Rates problems

Assignments: Assignment 16 Assignment 17

Suggestions: | The most important skill in solving a word problem is reading comprehension. The most

important attitude to have in attacking word problems is to be willing to think about what you are reading and
to give up on hoping to mechanically apply a set of steps. Nevertheless, we will present some useful strategies

to employ that are often helpful.

MAX-MIN PROBLEMS |

All max-min problems ask you to find the largest or smallest value of a function on an interval. Usually, the
hard part is reading the English and finding the formula for the function. Once you have found the function,

then you can use the techniques from Chapter 6 to find the largest or smallest values.

> ‘Max—min guideline: | This guideline is found on pp. 131-133 of our textbook.

A/ﬂamb?-
Read the problem quickly.

Read the problem carefully.

y
y
.) Define your variables. If the problem is a geometry problem, draw a picture and label it.
)

~ I~ ~~
= W N

Determine whether you need to find the max or the min.
Determine exactly what needs to be maximized or minimized.

(5.) Write the general formula for what you are trying to maximize or minimize. If this formula only involves
one variable, then skip steps 6, 7 and 8.

(6.) Find the relationship(s) (i.e., equation(s)) between the variables.
(7.) Do the algebra to solve for one variable in the equation(s) as a function of the other(s).

(8.) Use your formula from step 5 to rewrite the formula that you want to maximize or minimize as a function
of one variable only.

(9.) Write down the interval over which the above variable can vary, for the particular word problem you are
solving.
(10.) Take the derivative and find the critical points.

(11.) Use the techniques from Chapter 6 to find the maximum or the minimum.

Example 1:| What is the largest possible product you can form from two non-negative numbers whose sum

is 307 p DT 30-x
Letx “"‘J,:ﬁ be two Mom-meaetive vumbers sueh chodt X+a= 30

,Ajeicﬁjuz '5 X:gisc) \MF\yrs X)L_’) <30
Parabola

Note : /UO/U~MS$<7L‘HV& means TN ENS N homeue(/ Ao
So e Nave XAAC’[O/SOI

Want €o maximize ?(Xtﬁ\:jﬂ A,/ =~ <0 open dowanward
’ :)?()(\:—P(xljoij:Xﬂ(jso*x);30X*)<Z /'\W‘D‘KQ’C X = izﬁ:i’,h

TD (<) = SO*o?x @‘Deﬁ'n:J ?var&zﬂﬂ\gra e D?{‘W a- i

/Uch ‘a check ’P(O)= 30-0s) 02 600 Maximum (thmmm at X= 5

1) Endpoints: x=o, x= = - ToTes =30 -5 =15

&)j ?:\”?:, N 29 ?(|5)=30°15_— 157% (30-15) 15 = I 152 22575 \Lﬂ

3) Pt} DWE t anwhere ?(30)=30'30_3OJ: 302'30:!-'0
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Example 2:| Suppose the product of x and y is 26 and both x and y are positive.

What is the minimum possible sum of z and y? (¢ col Points cohen

/\.)G_CJ X-;=&C: it ><,3>o XQ,QQ:C, o x%=o %_4%'_:‘_‘_}‘_?
N

¥ -z

_ 20 x = *\/ac
= -
To vwinimize  S(x o= X+ Test
‘3\ A Va lue
o SO0 =S0x,AE) = x + % =y 26! 4
’éhmZ[“fe S'oVz l-Qex™- %7;—&_. xtac |5 i Tl T [ Treresinn |
x&T xt

[ocal Minimum at x= Nf

and Re Ve _ XNRe =/\/E )
An alternative wording for Example 2 above is: N me T = The Tlvee

So the minimuwy Sum is V3c +\/Re :Lo?\/ﬁ
“Suppose y is inversely proportional to « and the constant of proportionality equals 26. What is the minimum

sum of z and y if = and y are both positive?”

Example 3:| A farmer builds a rectangular pen with three parallel parti- l

tions using 500 feet of fencing. What dimensions will maximize the total |
area of the pen? l

MNeed X+ ‘—li>= S0 with Xéfﬁ/o?fo:l

<

o €[0,1257) \ w
lo vaximize (xy) = X i,}
A lxig) = Xy Zx+4y= SO0 % A A\
So Ao = ARS8 -2uy4) = (250- “2g)y X * 2y =50
éhere‘Fore /4(3\ 250~ 4y = S0y - J‘-JR X =50 mdo \ \ L
Not e A'/\:\\ = o De{rwc) cveiyhgre Parchola
| Gz -2<0 opens {— X \
250 J,(j{%_f Need €o check: downwerd N Concl
by ‘ . - hsolufe max a clusion: GIs
XS0 = 4 \\Ena’PDN\{S- QJ¥O {‘ ‘j ~ 00 . - ‘_L = -d50 @:GQQT 3 7;3@6
3) A'ly) DUE twewhere  Af) . 950.0- 2.0t 0-0-0 T =20 -2y

A(625)=250+62.5-2(62.5) = 156as— 7%12.5= 3

A(125)=as0-135- 20a5)= 31250~ 3] 250 = o
Example 4:| A Norman window has the shape of a rectangle capped by a

semicircle. What is the length of the base of a Norman window of maximum
area if the perimeter of the Wmdow equals 107

F13.5 - lé&fﬁ,ff

135 feet x o S

’F}Ef'\me{e( =h+b+h+;(C-rcle C;rcum{«c,\QB (C"C\ = —RGC*Qﬂﬁ\Q + 3\“‘ Circ le_ \4
lo:ézh;_b*éll(oqvfgw A(V\‘M*B"\ +§—“\, EA .............. U
10=c?htb+ Tb shh+ Tt ,

= SR
0-b-Th - 2h o
- (2
o -b(1+1)< an 'bh‘r%’i n
a(0-b(3.7)) - £ 2h) % ACb=A( 20, Y b o s 5, T \
= g -1 .
ho=s ah(gr) :‘MM: qob,%zf‘gmgvbz
I = 20 - blasw) L P B — b
4 g _ HOb -4k owht gy bm@ a3 o . 3}
W\ = 20-b(arT) . ¥ * Sh- xk’[q +I —~—————>»
q Note Altbl= 5 - S [u+r] - 5~~h[qmj a0
Note A'lbY=0 ohen 2 , A1=s-ELd+m] T Ay s L[4 am]
5'-—b|:“l+ﬂ‘] o b= (_|O‘n-' COY\C[(AS\O(\: T\(\E M X\ Mu pAl =S-0=5 >0 =S—_||:q+-n-3
B
N | Gfeo. OCCUrs When €he A(b)is increasing 25-4-T=[-TT<O
5 lo cal _—7 Alb)is c’ecreasm&
-5 =q’lr,qu+1TJ bO Se h&j 76 1@V\3+[’\ Zo L P o X MG PA
: ao
Ko = b [y+m] 441 ot b= T
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Example 5:| Find the area of the largest rectangle with sides parallel to

the coordinate axes that can be inscribed in a quarter circle of radius 10.
Assume the center of the circle is located at the origin, and one corner of
the rectangle is located at the origin and the opposite corner on the quarter

circle.
A(&@T 4 Mote: X, 0 ¢ o149 *ork ]Fxmslncc)
ON aext Paac

S0 Afx\ = A(Y,\/!Go—x‘) =X /OGVKSL
so A= 1 Vieoxt x (%//00 -x° /@j )
x
— z
T~ Vioo-x*t L= X - |00 - )( - >( [()OM‘QX;L
100-x* \100 — x*= m

Let A be the point (0,1) and let B be the point (5,3). Find

the length of the shortest path that connects points A and B if the path
must touch the z-axis. In other words, the path goes from point A to
somewhere (say P) on the z-axis, and then to B. (This is the ‘line of sight’
path from A to B if the z-axis is a mirror.) See the picture for a sketch of
such a path.

Note C)(A7>=/(O—Xa+(|—):": X1

Eq_t«a-fiol’\ O)Cc\ Circle with Centrr
@‘),o} and (adivs lo -

X %4 LSL =

1571100-><1 Top half

Y2t ioemxe T

(o) = (%) Voo e

- J(PB)=\/ta-57+ (0-3)2 /m
’OéQlD'SL‘GV\Ce=D(><§: \/ X2+ +\/(x- ) +q
S0 D(&) &()(-r)& (gx

Aote "D'(x)z0 when
ISR VR 2 *
\/XT“— \/(x—s‘)z*“ﬁ - :%+ (Y—Y)
_ 2
_(X j) &_5—5
\/ AT Ix7= x5k
X %t | \/(x—s‘) s X-Sx+tZs
_ Ixt= xS lox+25 y
>(\/&-3’) +9 = ’(X‘S")\/ Xy O =-%x"~(0x +35

O= gx* tlox -5
X\/{x-{)l{-q = —/X_S—)\/;(Z‘H 0= <E(>< + XX~ [Ox - -25

O X(Xx + x 4
AL = G en) 62 Gl

5(((*5‘)2“%3 2.2 x-5).

X X - <

= +
X4 \//x—ﬁ‘)z-“:{
qx—i': (@) '=?><+S_——@
Ax=s Ax =5
:é_ -3
cl X=§

¥ work qu'skec)

oNn dext

Prae

@X T)(Qx-& S_)

The z-coordinate of the point P’ that minimizes the line
of sight path from A(0,1) to B(5,3) corresponds to the z-intercept of the

line y = — + 1 from A to B'(5,—3). Note that the coordinates of P’ are

(5/4,0).

convince you.

Can you understand why? Perhaps, the picture on the right will

7
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EXQW\PIC S ((om{imuecm

(OY\C'uSior\i The maox i arec.
s So ul(\{fSZ

?

l

—

ExcmFle G (CchrmueJ) Recall: Drx=

+

Note < Altx)=0 | Ohen Gnd A DUE  when
oo -2 =0 \/Ioo-x* = O
00 = &2 0™ = 100 - x7
100 | R x> O = 00— x
S %\ >< = (0O
XQ\: SO \/—E howeum’ X20
>< “\so  Nowever x>¢ >< \/;o—
Ne =\5o = F.03..
/Ueec) fo checlz\‘» ?eccz” A(x)=><\//00—x9‘
>Emc) Ponts = X<0, X=lo /"r(@ =0\ loo-0% = O
ozg Al o s -\/—/%W A58 = V50 Vioo - (uma
3 /4(><)—D/Ut X210 = V30 oo -s0
=/so V5o

ACo) = 10V 0o- 0t

= SO F— maoaximuw'L

10\/100= 100
10\ o~

" lo-o0 =0
X—5~

) D(K) s c)efr@c5| A\

~2

So 16 is dCCrmng
Cor\c\usmr\ E

éhis 0 EWalNaa IO\ \ Jistance 1S

DCE) -3 1 (5575

VXU ytie
-3 ) >
N A S
/ N R +4+++// ] s-5
:D(S Va1 \/(3 s)q AUSS s = 5_)—\/5 A \/(f-j— 24q
nejd.w—s—u%mtw = weaehle D/ \[OT \/ﬁzﬁT'_ —?osﬂr.ug + O —Posd-lut

o+ /\JC%C‘-HL»( = Ufga%ug

7/he YN imiaw L C)I'S-FGHCG OcCcurs ‘-J\(\?r‘

Do :Dfx) 13 (I’\Ct’(’qjlh&

\(: %— Gnc)

~ ( _403132...
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f(z) =9 — 22, and sides parallel to the axes.

A(x,ﬁ: X',‘S Note  x £ [0/3] and 36[0,':1]
5o Acd= Al 9-x%) = x (T-x) = 9x 3
So Altxl= g3, a

Note A'tx)=0 Wher
MNeed €o Check:

Example 8:|Find the point P in the first quadrant that

lies on the hyperbola y?> — 22 = 6 and is closest to the
point A(2,0). If we write the point as P(a,b), then

[ and b:£.

aQ=_1__

Z_X2=G B ) i
$322(0+><:L /g/ !OP}\C\][)*VGH(
A‘-i\/é*xl

D(/P!A>:\/m :\/X{ ‘fquf(g+xz>

:\/(Qxl—QXHU

o Dx) = Vax—9xt10
So D//X>: D—l'l(o/)xz* C|X+!O)~°'Iz (q X — Cf)

- Hx - ¢ oz/(o?xyz)

Vodx - 110

/\jf ’/ = <
ote D )=0 tihen, Gnd Dx| - DWE when

A 4o P Gccurs wahen. €l
X (Ooid'(\cjiﬁ 57[ ?tj one.

W”ﬂfme) P=C1err ) = /J,\/TJ

78

Example 7:| Find the area of the largest rectangle with one corner at the
origin, the opposite corner in the first quadrant on the graph of the parabola 7

d-3x%=p -
q:3)<9‘ ()I:Y\E)?a[r\{g; X=0O % x=3
3 3 QA AGI=01 x -V
SLXZ SBA!("\:D/\/EL dJohere
X=1\/3 Nowever x20 A(o)= C\“’O*Og:o
% xaVITm 13330, AWD-GE(EF )

RS EVE

A(3) = 9-3-3% 3323 -0 o

(Y,@:(Xﬁ*f)

[

axmwum
Greo

QX‘QiO \/D?xl_clemso

Hx=2 0% = 2x% -4x t]0
5z S

a

‘ [ x= | Diécfiminanf= (‘92) - ‘{('](5'\

onclusion = -
he minimum distance 7[”./& (1:(0020
= - <O

S0 Mo rec | solutions

Y
(Xlﬁ\ =(Xl \/ G +x*© >
0] ;1 (&,O) T

vt uw\
w n
o ra

—— >

—- - = | ++++

Dro)-
k/oj.olﬁq.gﬁo Ve
So (xX) is c)ec(c«*asmi:) on (~w, r)

D;(Q):M - 942 2
\Ve2.2%4 2410 V=40 \ig “

So D(x\ 'S ?\(\C(FC\S'LW\B on (UOO\

_2:0-2 -2
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|RELATED RATE PROBLEMS |

> ‘ Overall philosophy and recommended notation:| In a related rate problem the idea is to compute

the rate of change of one quantity in terms of the rate of change of another quantity (which may be more easily
measured). It is almost always better to use Leibniz’s notation d_th’ if we are differentiating, for instance, the
function y with respect to time ¢t. The g’ notation is more ambiguous when working with rates and should

therefore be avoided.

> ‘ Implicit derivatives:| Imagine you drop a rock in a still pond. This will cause expanding circular ripples

in the pond. The area of the outer circle depends on the radius r of the perturbed area:
A=mr?.

The radius of the outer circle depends on the amount of time ¢ that has elapsed since you dropped the rock.
Thus, the area also depends on time. In conclusion, it makes sense to find the rate of change of the area with
respect to time and relate it to the rate of change of the radius with to time. We call it an implicit derivative

as the function A is not explicitly given in terms of ¢...but only implicitly. We need the chain rule to do this.

> ‘Quick review of the chain rule: Typically, we are given y as a function of v and u as a function of

x, so that we can think of y as a function of = also. The chain rule then says that

ay_dy v
de ~ du dx’

dA
Example 9: | Consider the area of a circle A = 7r? and assume that r depends on ¢. Find a formula for e

'éh Cl’\ 1 IQ A’
By the chain ru gd_é___;)_é_g_z and wole Since A= et

Chershee, I ) 92 e
afe, 87:4: o?/le" ’/F dr

%s

> ‘Related rate guideline: ‘ This guideline is found on pp. 143-144 of our textbook.

(1.) Read the problem@@’ 5{%

(2.) Read the problem carefully.

(3.) Identify the variables. Note that time is often an understood variable. If the problem involves geometry,
draw a picture and label it. Label anything that does not change with a constant. Label anything that
does change with a variable.

(4.) Write down which derivatives you are given. Use the units to help you determine which derivatives are
given. The word “per” often indicates that you have a derivative.

(5.) Write down the derivative you are asked to find. “How fast...” or “How slowly...” indicates that the
derivative is with respect to time.

(6.) Look at the quantities whose derivatives are given and the quantity whose derivative you are asked to
find. Find a relationship between all of these quantities.

(7.) Use the chain rule to differentiate the relationship.

(8.) Substitute any particular information the problem gives you about values of quantities at a particular
instant and solve the problem. To find all of the values to substitute, you may have to use the relationship
you found in step 6. Take a snapshot of the picture at the particular instant.

79
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Example 10:| Boyle’s Law states that when a sample gas is compressed at a constant temperature, the

pressure P and volume V satisfy the equation PV = ¢, where c is a constant. Suppose that at a certain instant

the volume is 600 cm?, the pressure is 150 kPa, and the pressure is increasing at a rate of 20 kPa/min. At what

rate is the volume decreasing at this instant?

I p)
V=000cm> Also ayivens: Jdr - 20 Kla i
&f "M I Q_M B CI\UDC)O
=150 KT \/ (Oﬂsaarwmw dé F=Ifo/§_o %0 m(n
(oo- [S0= ¢ ( chawn rule o’f d? d{- _é%‘g mmm_ Lhe volume
90,000 =c < so d_\/ _ —Y0,000 (S dECWG’C«S!Y\A bLS ?Q

' dé B —'FTG‘&O Cub(c cm PE'VC‘\(WH’\

Se "PV= 90,000 &\
= EO 000 - ) -
\/ ? - ‘70, OOOl_) {here/gra %% _ _CiO,OG@? Q: CiOT;ioo

Example 11:| A train is traveling over a bridge at 30 miles per hour. A man on the train is walking toward

the rear of the train at 2 miles per hour. How fast is the man traveling across the bridge in miles per hour?

2 ™M le/hou(
F—

G lo=EN — 30 mis

nou

(GY\SQ?L\EY\HAJ -é‘(\CYY\C‘Y\ 15 -é(uval'wr\& aC105S él'\{ bﬂ(JSQ n 30*9\:)97? MPL\

Example 12:| Two trains leave a station at the same time. One travels north on a track at 30 mph. The

second travels east on a track at 46 miles per hour. How fast are they traveling away from one another in miles

per hour when the northbound train is 60 miles from the station?

U

Z \nouis Trov

der%m& on 569#6“‘23 \/5 ol

S(JC\zBOJC N ﬁf‘l.qlﬁ/m N
' 20 NS )= (5,/%))2+(52m)1 ’

"7 - T
o—p =\[(300)" + (dee )
He mp I =\ Gop¢teaiieez
(t)=4e €
a = \/ 3016 ¢2
= \/ 3016 £
80
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A

Q

E ample 0= m'rln'/{-:é F}7[:I[|‘(PV et an
u-r It ! i noic ot

E

Q

i
- N
o D

[l

O

I
Q

i
O o 7m+|ﬂ‘n-c)_
d

|00 S0

/s

EXQ ‘P,’ s —,_m‘P| cit (J 7[7Zgr ntiatior

K

°Caq We gre cgiuer\
1 —= dx _ 46 mph
>< —LJ l — e a -+ A [« Cé
— ane %f% = 30 mph
ﬂ_\ (QD dD: ‘;7/\ O _;_onL/\ ‘](_,
Y (/@ ad< s
S
. | ‘D
D 27 = x0x .. o
o= gt — g€
] |
so  db OX | o O
— g€ = oT
Jt =
Note vshen =g | ;')
X(2)= 4622 = 9K HJD: 92+ 46 = 6030
N (R)= 302 = G dc V. 1R06 9
<, D= G2 Lot ]l _ Y4a 3R+ |Foo - Q_Q;;?_ l_]_ 6. |
D% F464+3600 at- Vi064 Viated |0 “"PF\JJ
D= 1206¢ ]
D=21ro64  Howeyer DPo
=\/120¢ ¢
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Example 13:| Two trains leave a station at 12:00 noon. One travels north on a track at 30 mph. The second

travels east on a track at 80 miles per hour. At 1:00 PM the northbound train stops for one-half hour at a
station while the eastbound train continues at 80 miles per hour without stopping. At 1:30 PM the northbound

train continues north at 30 mph. How fast are the trains traveling away from one another at 2:00 PM?

\:%030 et & be £ he —éime(ir\ \nowsB erGWL | :30PM

E\Op\ Jo Ito SCAS =
v T e Jd=|/ (5 (sar)®

(- 7 ~ -
FOmph \a ~ —-\/ éOfSOf—BL*' (IZO+%0{-)2

\pm ['30Pm &~
LS. (=130 Wof
\
d (L= = (;309{ +X [600 £+ /SJUQ> (\L(GOOLL %ZIOOG

J%

= /‘TOO!— [F00E ¢ G002 + 14400+ [TL 00t + (Fo0 €2

4 GOG £+ 21,600 =\/ 33004 %+ 21,600¢ 15300

?\/JSOO{IJrZ\raDOtf/SJ}m
L{(aoo( )’r 1000 F300t U000 2 000
N EHEY

Neec) {0 compute d '\ =
i &B 92\/3'300( )= h;)}oa:’)(ihlffoo J\Wm 2\azcas MPV\
A ladder 10 feet long rests against a vertical wall. If the bottom of the ladder slides away

from the wall at a rate of 1 feet/sec, how fast is the top of the ladder sliding down the wall when the bottom
Conclusion : Lohen € ha

of the ladder is 6 feet from the wall? N
T C’Z‘L bl = |()Z Llj B‘j £he Chq}r\ \adde( s C?]fEE'L;(UVV\
(0 [ l &ho toc !l the ladder
b “=loo-3¢ X Ruole du_ _ Ju_, dx slides down
- b =G4 LlL Jt i JE tle {mqu e
v
b i\/(a =*% Howeueszo C—)%; - X V_C)_k O"%C\t /
b Jt ™~ Vigme & gieet/sec
- dJ -c _-C -3
Te | o Ve |7 T g e

X= (a—

ém) j(‘\ T )= \/100—x%

(x .
(€] / (€)) = oo - (xco)” 2
Lﬁ d = L 0O~ X? -
/4) = *\[100-(x(A)* | Howeral 526 daﬁ 7'\1( “ ) (/jX>

- 2% (6) = \[Too=veia e dx  \ioo—x*

Example 15:| A cylindrical water tank with its circular base parallel to the ground is being filled at the rate

of 4 cubic feet per minute. The radius of the tank is 2 feet. How fast is the level of the water in the tank rising

when the5 tank is half full? Give your answer in feet per minute.

theeg )
d){,_‘ 7 Noﬁe~
Jt min \/: (Ir N )
&ﬁ \( =T 2 h=41h \1/ By €he chon gy c) h
n Rule Jt “
so dV _ T \ o=y h
dh « 7t v
AT <7
dh 1 fect
J+ T T min
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d\/ -3 jCGCF/MI(\

Jta
Example 16:| A conical salt spreader is spreading salt at a rate of 3 cubic feet per minute. The diameter of

the base of the cone is 4 feet and the height of the cone is 5 feet. How fast is the height of the salt in the spreader (\Ji
decreasing when the height of the salt in the spreader (measured from the vertex of the cone upward) is 3 feet? JE

Give your answer in feet per minute. (It will be a positive number since we use the word “decreasing”.)
2

L
= =nh
_ \/:_l’\[‘rzk—\ﬁﬁ‘;> \/ /T(,Qh *‘é'T’qhzdlﬂ
| /\Joée “he similer € rianales 3
3][\‘16{' §¥e€6

—SL—| 3
TN T -y 5

Fr4 =4 T N 2
Not e ) N 5-r =2 So CBJ%L 217 h - Lﬂ
\1/ Eaﬁ\"idﬂﬂr/\ | T XS

e L s dh| - s2sE o
1 Jt = dh Je dt h=3 4 (3% 137 M
l_[

€
S Condusion: Lhen €l ‘nef h
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Example 17:| It is estimated that the annual advertising revenue received by a certain newspaper will be

2
Constant R(z) = 0.5z + 32 + 160

thousand dollars/when its circulation is & thousand. The circulation of the paper is currently 10,000 and is
increasing at a rate of 2,000 papers per year. At what rate will the annual advertising revenue be increasing
with respect to time 2 years from now? d R

Note : C)y = q,000 PApe Jt
Qe
R X/°§= 10,000 (R(*\ = C‘E ><2+3><+ GO
l x{1)= 12,000 oF |
X )(/Q]: 14,000 e— |4 {I’taufiwc) —a—_ ) 2 +3
‘ JR

& E\'\_’S £ he Cl(\air\&w\e///—'—' Tx = X+3

djl C)j‘ﬁ CD(\C[U\S\OF\: The /REUQ‘(\ME in(rgagfg
J&— dx O onclusio
30 Cm f( dx at a rate O)C iﬁjtr,ooo per aeef
d& ><+3>° (o hen €= 2 uears.

R’ (x iy dx
?ﬁz fwéa

q\

£=1

3 &(2”3)‘ = :ﬂ‘l £3)22 = [F-2 =39
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Example 18:| A stock is increasing in value at a rate of 10 dollars per share per year. An investor is buying

shares of the stock at a rate of 26 shares per year. How fast is the value of the investor’s stock growing when
the stock price is 50 dollars per share and the investor owns 100 shares? (Hint: Write down an expression for

the total value of the stock owned by the investor.

Lee PEprice Df5'4oc|< Per a share —s %{EJ: lo Wand éd][‘“cj S\Z/
n= .H:of shares guwned bﬂ <he investor —m Cj_‘f\_ 2c
C

= dodal value o {L\z (r\Veeror's Stock

Also _
Aven P=H 50 per sher
b (On&umr\ - @ $12.300 per a

and N= 100 sheres /
fete N n-p Jy Vear
d\/ d dg ‘dT:D'\)GNYOJr/OO-)C) u[\:f\ {L;e vale. o
dé df ?+ ne 7{- B )’KOC)JF I)OOO Géf\d zéocir\i\{ s‘jorﬁhii

T &, 300
Example 19:| Suppose that the demand function ¢ for a certain product is given by

q=4,000e0017,

100 Shores of stock

where p denotes the price of the product. If the item is currently selling for $100 per unit, and the quantity

supplied is decreasing at a rate of 80 units per week, find the rate at which the price of the product is changing.

'Pr _ﬁ' loo -
d;i: 9" B,Af\f\e chain fule Mode gr: ﬁ}/ooog oo
- - %0 ' o
d ’P ﬂ: dj: ’éh?n a o
- 0.0
Uant %E ¢ dJ¢ Ge 40002 """ (o)
- Y0 = —4ge®°'P C—)P— d ~0-al
Y ot =0 5‘?: Yo e P
— Y0e P —({O ;0-9lp
. dJd
R
SO d (Q . OIP
€ herefore Q]ZJ cQ G.01(100)
p= (00 e = Qetﬁfﬂ per o WLeek
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